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Dividing with Multiples of Ten Name:

Solve each problem. ANswers
1) 210+30=_ 1
2 35000+7,000=_ 5
3 124+2= 3
4 400+400=_ 4
5 180+90=_ 5,
6) 42,000+6,000=_ 6.
7) 72,000+8000=_ 7.
8 2,000+2,000=_ 8.
9 56,004+ 70= 9.

10) 4,004+ 8= 10.

11) 360+40=_ 11.

12) 1,606+ 2= 12.

13) 545+ 6= 13,

14) 4802+6= 14.

15) 152+ 5= 15.

16) 10,003+ 200= 16.

17) 15,001+ 300= 17.

18) 802+ 2= 18.

19) 1,200+600=_ 19,

20) 1,201+ 6= 20.
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Dividing with Multiples of Ten Name: Answer Key
Solve each problem. Answers
) 210+30=_ 7 1 7
2) 35000+7,000=_ 5 , 5
3 124+2= 6014 3 60r4
4 400+400= 1 . 1
5 180+90= 2 . 2
6) 42,000+ 6,000=_ 7 . 7
7) 72,000+8000=_ 9 ., 9
8 2,000+2000= 1 8 1
9 56,004+70=_800r4 o 800r4
10) 4,004+8=_500r4 0. 500r4
11) 360+-40= 9 11. 9
12) 1,606+ 2= 80016 12. 800r6
13) 545+6= 9015 130 90r5
14) 4802+6= 80012 s 800r2
15 152+5= 30r2 1. 30r2
16) 10,003+200= 5013 16. 50r3
17) 15,001+300= 50r1 17. o0rl
18) 802+2= 400r2 18, 400712
19) 1,200+600=__ 2 19, 2
20) 1,201+6= 200r1 20, 200rl
[ Math Y commoncorssnesscon 1120 a8l a0 [ s 0 55 20 15 10T 5 | 0




